Properties of welded connection, treated as a line Sect 6,3-3
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Determine size of weld at base of column

/N M=24300 £t bs

Sect 6,3-18

treat wekd

as a /ine 2

lS?fh@h‘

eolumn

Moment of Inertia of welded connection (Tw)

3 3 2 2
- /9.726°= /2, ;
bracke t I, = h 69 = /7 66 /2,726 = 738.7 /n3
' 3
sq. tube T.= %5 b= 23(9) = Y860

Total = /42177 /53

T 4217 . 2
5;SW: h/?. = 986 /6/41{42 /77

unit bendlhq force on weld

M 24,300. ft b xj2 | )
b Sw /Y2 = 2020 /A////.?EQ/*//?C;

. . 2020
/eq size of F///ef we/ld W=r 55 =./8/ ar
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